
CUSTOMER SERVICE
877.370.3604 (toll free)

INSTALLATION QUESTIONS
techsupport@kuryakyn.com

or call 715.247.2983

LIMITED WARRANTY
Küryakyn warrants that any Küryakyn products sold 

hereunder, shall be free of defects in materials and 
workmanship for a period of one (1) year from the 

date of purchase by the consumer excepting the fol-
lowing provisions:

 
• Küryakyn shall have no obligation in the event 

the customer is unable to provide a receipt showing 
the date the customer purchased the product(s). 

• The product must be properly installed, 
maintained and operated under normal conditions. 

• Küryakyn makes no warranty, expressed or 
implied, with respect to any gold plated products. 

• Küryakyn shall not be liable for any consequential 
and incidental damages, including labor and 

paint, resulting from failure of a Küryakyn product, 
failure to deliver, delay in delivery, delivery in noncon-

forming condition, or for any breech of contract or 
duty between Küryakyn and a customer.  

• Küryakyn products are often intended for use 
in specific applications. Küryakyn makes no 

warranty if a Küryakyn product is used in 
applications other than intended. 

• Küryakyn electrical products are warranted for one 
(1) year from the date of purchase by the consumer. 
Components of Küryakyn products containing L.E.D.s 

will be warranted for defects in materials and 
workmanship for 3 years from the date of purchase. 

• Küryakyn makes no warranty of any kind in regard 
to other manufacturer’s products distributed by 

Küryakyn. Küryakyn will pass on all warranties made 
by the manufacturer and where possible, will expedite 

the claim on behalf of the customer, 
but ultimately, responsibility for disposition of the 

warranty claim lies with the manufacturer. 

ABOUT OUR CATALOG
You’ll find all our innovations for H-D, GL and 

Metric Cruisers in our annual catalogs. Order online 
today–select the ”CATALOGS” icon. Each Küryakyn® 
product comes with a Proof-of-Purchase good for a 

complimentary catalog. Details in packaging.

Be sure to ask your local dealer about other 
Küryakyn products, the motorcycle parts and ac-

cessories designed for riders by riders.

©2005 Küryakyn USA®  All Rights reserved.

INSTALLATION

Parts Included
		  1	 Luggage Rack
		  3	 Clamp Kits, each including:
			   1	 Top
			   1	 Bottom
			   2	 #10 Med. Split Lock Washers
			   2	 10-24 x 3/4 Button Socket Cap Screws (BSCS)
			   1	 1/4-20 x 3/4 Socket Head Cap Screws (SHCS)
		  2	 Hole Caps
		  1 	 Alcohol Pads
		  1	 Installation Instructions

Please read and understand entire instructions before starting installation.

Thank you for choosing Küryakyn!

In order to protect you and others from possible injury and/
or property damage or loss, please pay close attention to all 
instructions, warnings, cautions and attention notes regarding 
the use and care of this product.

CAUTION!	 This indication alerts you to the fact that ignoring the contents described herein 
can result in potential injury or material damage.

ATTENTION!	This indication alerts you to the fact that ignoring the contents described herein 
may negatively affect product performance and functionality.

Tools Suggested
Set of hex wrenches.

Strictly observe the following guidelines in order to use the 
product properly and avoid potentially dangerous accidents.

Procedure
STEP 1	 Read and understand all steps in the instructions before starting the installation. 
Park the motorcycle on a hard, level surface and turn off the ignition.

STEP 2	 Remove the saddlebags and set them out of the way on a soft and clean cloth so 
they will not be scratched or damaged.

STEP 3	 Remove the radio antenna from the motorcycle to ease the installation of the rack.

-cont.-

for  flhx ,  f lhr ,  f ltr ,  f lht  Standard
Fits: ’06-up FLHX, ’97-up Road King (except ’07-up FLHRSE) ’98-up Road Glide, 
’97-up FLHT Standard
NOTE: Installation on Road King, Road Glide, or FLHT Standard requires 
relocation of license plate.

7152-11HD-0208

l u g g a g e  r a c k 					      715 2



INSTALLATION

NOTE 		STE  P 4, step 5 & step 6 are only for installation on Road Kings, 
Road Glides, or FLHT Standard.

STEP 4	 Remove the license plate and mounting bracket from the support bar. License plate will need 
to be relocated using Küryakyn P/N 2098 (not included) or similar license plate relocating 
product.

STEP 5	 Clean the area around the license plate mounting holes on the support bar with the 
included alcohol-cleaning pad, allowing the area to fully dry.

ATTENTION!	Ensure the area of installation is free of grease, oil, dirt or other debris to ensure 
proper adhesion. Küryakyn WILL NOT warranty any parts lost due to improper 
installation.

ATTENTION!	The adhesive will not bond correctly if applied at temperatures less than 50°F. 
Do not attempt this installation in temperatures less than 50°F.

STEP 6	 Using the back of your fingernail, rub the backing of the adhesive pad in the hole 
cap to activate the catalyst. Remove the backing from the adhesive pad and place the cap 
over one of the mounting holes on the support bar. (See PIC.1.) Repeat this process for the 
other hole cap.
 
STEP 7	 The luggage rack offers two different mounting positions, however we recommend 
the forward position as indicated by the circles in PIC.2. The other mounting position can 
be used if there is not proper clearance between the seat, sissy bar or any other installed 
accessories. 

STEP 8	 Loosely install the mounting brackets as shown in PIC.3, using the 10-24 x 3/4 
BSCS screws and #10 lock washers from the hardware kit.  Place the lock washer and the 
screw in the mount clamp and thread into the rack. 

NOTE		  Do not fully tighten the screws securing the clamps to the rack, as 
they need to be left loose to achieve proper alignment. 

 
STEP 9	 Place the rack on the support bar and determine proper spacing for 
mounting clamps. Also, check for clearance between the rack and the seat, sissy 
bar or any other installed accessories.

STEP 10	Make sure the rack is straight on the bike.

STEP 11	Once placement of the clamps has been determined, snug the screws 
holding the clamps to the rack.

STEP 12	Remove the rack and tighten all of the screws that secure the placement 
clamps to the rack.

STEP 13	Hold the rack upside down, off to one side of the support bar, place the 
bottom half of the clamp assembly on the clamp-mounting 
arm over the support bar, and start a 1/4”-20 x 3/4” SHCS 
screw from the hardware kit. (See PIC.4.)

STEP 14	Rotate the rack into place on the support bar; 
making sure that the rack is properly positioned so that all 
the clamps are resting evenly on the support bar.

STEP 15	Install the remaining two bottom clamp halves 
to the clamp mounting arms using the 3/4 SHCS screws 
from the hardware kit. 

-cont.-

Page

2
l u g g a g e  r a c k INSTALLATION

PIC.4

PIC.1

hole caps shown installed

PIC.2

PIC.3 rear 
support 

bar 
mounting 

bracket
side 

support 
bar 

mounting 
brackets

mounting brackets shown in 
the forward position



INSTALLATION

STEP 16	Tighten all fasteners and verify that there is proper clearance.

STEP 17	Reinstall the radio antenna and saddlebags.

CAUTION!	 Never exceed the recommended load capacity of 10 lbs.  Excess loading on the 
luggage rack could cause damage to your motorcycle, loss or injury.  Küryakyn is not 
responsible for damage, loss or injury caused by exceeding the load capacity. 

Ride On!

Page

3
l u g g a g e  r a c k INSTALLATION


